£18EH 28 1B(1)
PERE|TEE | 1£3 | 2E | FiR K £ ARREA Ly F # ®R OB IEGE | ISSG| NR | {5
M2 | 8 | HII #FBE | 1/12| 39.18 18.07 39.29 TAB | 10
N3] 9 hE #%F |12/15| 44.02 18.89 4145 TAD | 6
= M4 10 | Fh Es (10727 39.09 18.50 4163 - | a
M4 | 10 | & FiRFE (10727 37.17 17.58 38.22 TAC| 6
NS |1 AR # | 1/12| 3543 16.18 35.15 TAC| 7
% M5 11| Bk DE | 7/14| 3015 14.42 30.54 14.12 30.33 2 | JuA| 11| JoC
i Me | 12 | RIS WEA|10/27| 31.39 14.79 31.61 14.47 31.24 5 |JBA| 8
B lMm6| 12 | &F X |12/15] 3663 16.53 36.18 - | a
M6 | 12 | ##& K | 9/8 | 3559 16.03 34.38 TAD| 5
1| 13 | R EF | 4/14| 3180 14.83 3193 14.41 31.42 5 - |8
= fi2 | 14 =H ¥ (10720 (34.15) 16.05 34.46 - |5
2| 14 EH B | 1/12| 3292 15.13 3257 - | 4
Na| 10 | BEEF 3 | 1712 3978 19.98 | 4071 TAD| 6
T . N4 | 10 | 3 BIED —_— 1.01.53 | 1.2458 | (43.87) s
Mal 10 | #L FEE 1.41.13 | 20021 | (35.63)
Mha| 10 | HFFE BE 21691 | 2.3572 | (35.51)
I3[ 9 | BER &G | 1/12] 3715 1800 | 37.20 JMA| 9
o | vigee| M3 9 | BHE B —_— 5775 | 1.21.96 | (44.76) -
M| 10 | HE KR 1.38.97 | 2.00.28 | (38.32)
M4 | 10 | 4L B 21722 | 2.35.78 | (35.50)
Mme| 12 | k=F HE | 11/3| 3214 1497 | 3083 JUA | 11 [mes-soc
- NS | 11| iR {ER - 4925 | 1.1067 | (39.84) _—
M5 11| HEK DE 12525 | 1.41.26 | (30.59)
M6 | 12 | BTER BETE 1.55.00 | 2.10.88 | (29.62)
M1 | Nl RAER |12/15| 35.21 1684 | 35.15 TAB| 8
506 [k m Me| 12 | B8 B8 B 5399 | 1.15.82 | (40.67) 5
MB| 12 | FA HEA 1.29.81 | 1.47.16 | (31.34)
M| 12 | BE KB 20153 | 2.17.63 | (30.47)
f2| 14 | felh ¥R [10/27] 1.06.08 3265 | 1.06.83 JMA| 9
o - 1| 13 | K& HoC — 1.41.34 | 2.21.10 |(1.14.27) 5
f1| 13 | KkE #F 25255 | 3.28.03 |(1.06.93)
2| 14 | HE B 3.56.95 | 4.28.69 |(1.00.66)
2| 14 | BTEH FHIK | 1/12 | 1.0557 3225 | 1.05.87 - 17
i Liml 2| 14| FIU KF S 1.40.38 | 2.21.65 |(1.15.78) s
1| 13 | EBR BE—ER 25028 | 3.23.09 |(1.01.44)
1| 13| BR &2 3.54.10 | 4.27.68 |(1.04.59)
1| 16 | HEF/F: KA | 1/12| 5827 2900 | 59.61 JBA| 9
P w2 17 | B X8 —_— 1.30.86 | 2.07.11 |(1.07.50) g
=3l 18| BE HHE 2.34.66 | 3.06.74 | (59.63)
1| 16 | WwE FEX 3.31.35 | 35857 | (51.83)




